Question 12 &D Murata Software

Q: How to solve the value of a current through a conductor?

A Integrating the current density over the cross section by
area will give the value of current.

Please refer to the next slide.
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Additional Information @ Murata Software

1
1. Select [Static Analysis vl
(Resistance)] for the analysis type -
on the [Electric Analysis] tab in "™«
the [Analysis Condition Setting] sednicArabr
dialog bOX F Analysis Type

(C)Static Analysis (Capacitance)

2. Specify the material property of

Open Boundary

electric conductivity and set 1 [V] P Rneves

Harmonic Analv...

and 0 [V] to the boundary
conditions.

3. After calculation, display the
current density [A/m2] and select,
for instance, the face where the
boundary condition of 1 [V] is set
and integrate current density on
the face by area to give the value
of current, 4.289 [A].

. Maghin Valuzs Of Face
Output Node Results By CSV

0 it

p Show Narmal/Tangent Line

Output

Integration Target : Face 2 ()
Solver : Electric Analysis

(See Example 11 of the electric analysis) Hode : : Static Malysis
Field : Current Density [A/n2]
Component : Uector ¥Y2

Integration results (Mormal component) [A]: lh.ZSWZZEfIIS I
frea [n2]: 1.600068e- 06
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